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double area(int n,double x[],double y[]){
//n@ BB NTER, Eits (M1FFE) SRR (x(11,y04])
double ans=0;

_ (y___

return ans;
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void reverse(char s[],int a,int b){
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char t[10]="12345"

reverse(t,0,4);
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g, t{]="12A3" AR BT, t1] t[4]AASCIIFD{E#R 2 11k
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void reverse GBK(char s[],int len)({
//sB—1FREH, lenEENKE (FEXBENKEREFFOENKE, 1BREEE

B'\0")
(2)

BORINT

char t[]="1M2ik3";

reverse GBK(t,7);
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#include <stdio.h>
int a[1000],n,s[1000];
void init prefix sum(){

//Fa 1RBINIAKR L, MEs[1H
(1)

int main(){
int q,1,r;
scanf ("%d%d",&n, &q);
for(int i=1l;i<=n;i++) scanf("%d",s&a[i]);//HANaZiZA
init prefix sum();
for(int i=1l;i<=qg;i++){
scanf ("%d%d",&l,&r);
printf("a[&d] F a[s&d]BIFIR2d\n",1,, (2) )i
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#include <stdio.h>

int a[1000],n,s[1000];

void init_diff_ seq(){

/I REEBaNED TS, FEIsH
_ (1)

void interval addl(int 1,int r){
/1 BRIEED RS, BXE[1, r]FRIEE N
__(2)__



int main(){
int q,1,r;
scanf ("%d",&n);

for(int i=1;i<=n;i++) scanf("%d",&a[i]);

init_diff_seq();//IRIEWARIa, TEEDFIs

scanf ("%d",&q);
for(int i=1l;i<=q;i++){
scanf ("%d%d",&l,&r);
interval addl(l,r);//iR{EsE4H, a1 1Fla[r BYEEINLL

/I TRIBIRIERMIs A, TEIXRERFEIRaEA.
__(3)__

for(int i=1;i<=n;i++) printf("%d ",a[i]);

return 0;
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